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(b) —8a—5b

02. (a) 2a+8b

03. 13




01. P(3,0,5), Q(3,4,5)

02. R(%o,o)

03. (@) (z—2+@y—4)P’+(x—7)7°=4
(b) (—2)*+3*+(z+1)" =12



01. OP= 3OB+520A
02. c=7a—3b

03. (a) 6v2

(b) 0
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05.

(a) 2z +3y+72:-26=0

n
4

0:

6.4%

(b) 8z +2y+2-15=0



63 daaAl

01. (@) A0  (b) CD (c) CE (d) AE
02. BC= OC— OB, CA= OA— OC
03. m= % n:%
04, 2¥=f
05. (z+1)°+(y—2)*+(2+4)* =36
06. (a) OP= —"— OB+ —1—04 (b) OG= %a@ %@4 %%
07. (a) b= (4,2), (—4,—2) (b) a=—7. 1
08. (a) mplal®+ (mg+np)(a - b)+nglv]” ) lal*= 5]’
09. 6= %
10. (a) A3k (b) A3=F
(c)

import numpy as np

a = nparray([1,23]) # 9|9 HE MEHSI7|!

b = np.array([4,7,-5])

¢ = np.array([3,9,1])

# (a)

print("(a+b)c=",np.dot(a+b,c))
print("ac+bc=",np.dot(a,c)+np.dot(b,c))

# (b)
k =11 # 2[2 &= k HEB7!

print("(ka)b=",np.dot(k*a,b))



print("k(ab)=",k*np.dot(a,b))
print("a(kb)=",np.dot(a,k*b))

11. (a) = (b)

import numpy as np

a = np.array([3,5,-5]) # Qo|o| HIE MEHSEY|I
b = np.array([1,9,3])

# (a)
print("(aXb)b=",np.dot(np.cross(a,b),b))

import numpy as np

a = np.array([7,-2,5]) # QUo|o| HIE MEHS}T|!
b = np.array([3,7,-2])

print("|aXb|A2=",(np.linalg.norm(np.cross(a,b)))**2)
print("|a|*2|b|A2-(ab)~2=",
(np.linalg.norm(a)**2)*(np.linalg.norm(b)**2)-(np.dot(a,b))**2)

14, (a) 2 —1="—= (b) Tx+5y—32+1=0
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